TEXT BOOK EXERCISE 9.3

Q. 1. Find the area of pentagon ABCD
shown in figure 9.27 (Textbook).
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Solution. According to the figure
Area of pentagon ABCDE
= Area of right Al + Area of rectangle +
Area of AIl + Area of AADE

l>< 1x2x3
=13 2xX3+4x3+ 3

2
= 3+12+3 +6) cm?
= 24 cm? Ans.
Q. 2. There is a pentagonal shaped park as
shown in figure 9.28 (Textbook). Jyoti and

+lx6x2] cm?

kavita divided it in two different ways. Find

the area of park using both ways.
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Solution. Jyoti’s Case
The length of each side of pentagon = 10 m
Length of perpendicular DP = 20 m
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Area of pentagon ‘ABCDE = 2 x Area of
trapezium APDE

= I K (% x sum of parallel sides)
X perpendicular distance
| L pd 10
= —(20+10)x —| m2
2 X [2( 10) 2] m

=30 x 5 m? = 150 m?2 Ans.
Kavita’s Case

Area of pentagon = Area of ADEC + Area of
square ABCD '

1l

1
'2'><EC><DQ+EA><AB

1
(5x10x10+10x10) 2

= (50 + 100) m2
= 150 m2
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70. 3. Find the area of hox

re 9:29 (Textboo) agon shown in 10
f# own in figure ) by two different wavs . _1. % (14 + 6) X — | cm?
‘gsh 9.29 (@) (Texth y 2 X 2 2
) (Textbook). Where AB =B 00k) and 9.29 2
{;F‘FA' =BC=CD=DE= — (20 x 5) cm? = 100 cm” ADS.
In case of fig. (b)
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B - 5 10cem |
c Length of diagonal BE = 14 cm
. o X 1
Length of perpendicular BG = —2‘(14 —6) cm
D = 4cm b : ;jj
! | Now, Area of hexagon ABCDE
'(a)’. (b? = 2 x Area of AABC + Area of
rectangle ACDF
In case of fig. (a) : 1 '
Length of each side of hexagon = 6 cm ! =2% I}Z_X 10 x 4] cm? + (6 x10) cm?
ﬁg B : = 40 émz + 60 sz ‘
i | = 100cm? Ans. . ?
AR c | Q. 4. Find the area of octagon. as shown in
. S A ; figure 9.30 (Textbook).
cm 14cm |Ocm
5 cm
F D ,
5cm 5
S 6 cm 4 4cm o
By : 12cm
T 1oom 5cm &om
Length of diagonal BE = 14 cm |
Now Area of hexagon ABCDEF Scm 5cm . ' &
= 2 x Area of trapezium 5cm
= 2x [lx sum of parallel sides Solution. Let ABCDEFGH be the regular 1
2 octagonal surface as shown in the figure. ‘
x perpendicular dlstance] Each side of octagon = 5 1



Now, area of octagon ABCDEFGH
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A 5cm B

= Area of trapezium ABCH + Area of rectangle
CDGH + Area of trapezium DEFG

[%(12+5)><4] cm? + (12 x 5)

1
cm? + [5(12 +5)% 4] cm?

= 34 cm? + 60 cm? + 34 cm?
= 128 cm?

Q. 5. Find the area of Hexagon showh in the
figure 9.31 (Textbook).

where
MP=9cm MD =7 cm
MC =6 cm MB =4 cm
MA =2cm AN =2.5 cm
OC=3cm QD=2e¢m . - - -
RB = 2.5 cm. bt N w8 ey
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Solution. The hexagon is divided in six pan
shown in the figure.

Here, AC = MC-MA=6cm-2c¢ny
= 4 cm
CP = MP-AC=9cm-6cm
= 3cm _
DP = MP-MD=9cm~7cy
= 2cm
BD = MD-MB =7cm =4 ¢y
= 3 cm.

Area of hexagon MNOPQR = Area of AMAN
+ Area of trapezium ANOC +' Area of AOCP 4
Area of ADPQ + Area of trapezium BDQR + Arey
of AMBR.

_.[lxMAxANJ o Bx(AN+CO)xAC] +
=(3 |

B—X(CPXCO)] + [%XDP"DQT +

[—;—X(RB+QD)XBD] + BxMBxRB

= (‘;‘XZXZ-5)cm2 +|:%X(25+3)X4]cm2

o
+ (EX3X3)cm2+ (%X2X2)'cmz

1
+ (5 X (2.5+2) % 3) -~ (% X 4 X 2.5) ol

= 25 cm? + 11 cm? + 4.5 cm? ; \
+2cm? + 675 cm? + 5cm?
31.75 cm? Ans. e
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